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* Morginal Analysiss Benefits and Cosis:

alysis—comparisons of marginal benefits g

The economic perspecfive focuses lc]rgely on marginal an
hoices rationally, ihe decision macker m

marginal costs, usually for decision 'making. In making C
compare MB and MC. " 5 Fi

Marginal bengfits (MB): utility received frorn consuming goods and services.

Marginal costs (MC]: opportunity cost.

The choice rationally if MB > MC

Mulliple Choices:
1. Purposeful behavior suggests that:
XA. everyone will make identical choices.
% B rgsource availability exceeds economic wanls.
C. individuals may make different choices because of different desired oulcomes)

D. on individual's economic goals cannot involve tradeoffs.

2: Pun;@seful beh‘gvior mecns that: ‘
A.people cri?'-s'elﬁsh in their decision-making} ‘ 3
?:..;;Z%plg weigh cosis and benefits io make decisions.
5 deCispimc_lre_|mmunc=: from emoﬁc?ﬂs affecting their decisions.
n-makers do Qot make mistakes when weighing costs and benefits

3. You should decide 1o g(i) to a movie:

Qilff it:e MArginal CosTof thiemovie-exeeeds-iis-marginal benefit.

3 e marginal benefit of the movi Qﬁtl

! ) ie ex i i

€. g yogri;mcome Will allow you to buy a 1?:@?5 e
€CQause movies are enjoyable. -

e tten t— e tee e,

;

TSU
> e
happifiess: 1o maximize their satisfaction, BeLc,mln%
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Scientific method procedure consists of several elements:  way Jobe dussy aolc 8y9.01 alall Sl a1

1. Observing real-world behavior and outcomes. x| AlS.ta 33438 B Ul ala>\a

2. Bosed on those observations. formulating @ hypothesis alStiall ol 3,2Ua)l Jo> oluoyd g2y

3. Testing this’ explanation by comparing the outcomes of specific
by the hypothesis. Lpld=ds alS tiall Jg> ol aod

4. Accepting, rejecting, and modifying the hypothesis, pased on these comp!

o FOESH | BT SLILE
5. Continuing to test the hypothesis against the facts (resulls). ailgal gl Jgosll
. ° . =

Economic principle

A statement about economi

< behavior or the economy that enables prediction of the probable
effects of certain actions

Econ i dels: which are simplified representations of how economic works.
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Economic principles and models are highly useful in analyzing economic behavior and unders.londing
how the economy operates. They are the tools for ascertaining cause and eff_ecl (or ochor.\ gnd
ouicorne) within ihe economic system. Good theories do c'go‘od‘ job of explaining on.d predlct[ng.
They are supported by facts concerning how individuals and institutions actually pehave in producing,

exchanging. and consuming goods and services.

" There are some other things you should know aboul economic principles.

Generalizations: Economic principles are generalizations relating fo economic behavior or o the

evenis fo the outcome predicted

economy itself. Economic principles are expressed Qs the fendencies of typical or overage consumers,

workers, of business firms. For example. economisls saY ihat consurers buy more of a particular
produc} when ifs price fals. Economists recognize that some corisumers may increase 1hg|r‘ pur;hgses
by a lorge amount, ofhers by small amount. and a few not at all. Thisj._‘r_mce-qgonmy' principle.
however, holds for the typical consumer and for consumers as O group- " 5

: : i ion: iion that factors other ihan those being
Other- Things-E ual (ceteris aribus) Assumption. The assumplion. . '
co:\:iderzgs d:I: nét chcpnge. They assume ihat all variables except ihose under immediate

_ drconsideration ore nheld constant for a particular analysis.
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For _exaomple consider the relafionship petween ihe price of Pepsi and the amount of il

purchased. Assume that of all the factors that might influence the amount of Pepsi purchcse_d (for
exomple, fhe consumer incomes) unchanged-
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Microeconomics:

Microeconomics is the P s concemed with individual unifs such as a person 4

-« i art of economic
ousehold, a firm, or an industry. At this level of andlysis, the economist observ i
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Macroeconomics:
Macroeconomics exami i e
ines either the economy as d wh i i i
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such as the government, household, and business sectors. subdivisions o acareie
Macroeconomics g
ppproaches the study of economiic 1
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Example
to microeconomics 0

each of the following statements” applies

a. The unemplo i
b. An tBXpecpi)edyrfr:::zra]lgji'rr:3 Ic?eth're U.5 was 4.9% in January 2008 M
oranges to rise. (Microegofl Florida reciuced the citrus cro(p OC:jOeconOmicg)
omics) and caused the price ¢
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Muliiple Choices:

1. Macroeconomics can best be described as the:

(A) analysis of how a consumer tries to spend income./_______—__:[—//__
(B) udy of The Iarge aggregates of-the-econom\-or the economy ds d whole

T

(C) QOolysis of how firms attempt to maximize their profits
(D) study of how supply and demand determine prices in individual markets

2. Microeconomics:

(A) is the baisis for the "after this, therefore because of this" fallacy.

(B) is not concerned with. details, but only with the overall big picture of the economy.
(C) §s concerned with individual economic units and specific markets.

(D) describes the aggregate flows of output and income.

3. Which of the following is a microeconomic statement?
(A) The real domestic output increased by 2.5 percent last year.
(B)_Unemployment was 6.8 percent of the labor force last year.
(Cﬁwe price of personal computers declined last year)
(D) The general price level increased by 4 percent last year.

Positive and Normative Economics:

S, Leall sLazdVlg wegogoll sladVl

Both microeconomics and macroeconomics contain elemenis of positive economics and
normative economics.

Positive Economics

Positive economics focuses on facts and cause-and-effect relationships. If includes description,
theory development, and theory testing (theoretical economics).

Positive economics avoids value judgments

Theoretical economics is @ positive economics.
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Normnative Economics

Normative economics involves value judgments; about what the economy should be like or wr_\o’r
particular policy actions should be recommended fo achieve a desirable goal (poicy
economics).

Normative economics embodies subjective feelings about what ought to be.
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Example

Decide whether the followin

_—__’_tumﬁes—shewd—be—!nwad more heavily than necessities

Multiple Choices:

iz

mits, Alternative and Choices Wi,
>~
==

g statements are positive or normative:

> (Normative Statement)

y related. . ( Positive Statemen)

2. The price and quantity demanded of @ good is inversel

3. ltis too hot to jog (th_x) today". > (Normative statement)
(ixktia) Israeli product. > (normatiy

4. We should buy Palestinian goods and boycott

Statement)
5. Arise in the price of petrol will lead to an increase in the demand for rail transport. > (Positiy

statement)

6. Unemployment is more harmful than inflation = (Normative statement)

7. Arise in the price of petrol will lec'd. to an increase in the demand for rail transport. > (Positi :
Statement) s

8. Asa general rule, people are happier in more equal societies. > (Normative Statement)

A positive statement is one which is:

(A) derived by induction

(B) derived by deduction )

(C}) subjective and is based on a value judgment

(D) bbjective and is based on facts

Normative statements are concerned primarily with:
(A) facts and theories
(B) &hot ought fo be|

(C) what is
(D) rational choice involving costs and benefifs

"Economics is concerned with how individuals, institutions, and society make optimal choicesund

conditions of scarcity.” This statement is:
(A) positive, but incorrect

(8] positive and correct|

(C) normative, but incorrect

(D) normative and corect

Basel says that "An increase in the tax on smoke will raise its price." Ruba argues that “Taxes shoUle'
be mcre?sed on smol_<e because college students consume too much." We can conclude that:
(A) Basel's statement is normative, but Rubd's is positive.

(B) Rubd's statement is normative, but Basel's is positive |

(C) Both statements are normative:
(D) Both statements are positive.




i o
Econl31: Principles of Microeconomics Chapter 1: Limits, AI(cr‘lraM_M

Economizing Problem

\T,s\gnil;ndcmemcl problem of economics is the scarcity of productive resources relafive fo economic

The economizing problem is one of deciding how to make the best use of imited resources 1o sais
virtually Unlimited wants. 2L g . : i

o150 oLl olit) sas a)lis oYl slasll 8,1 s 4lasdVl alS ol pxid

Individuals' Economizing Problem 1,3l «sgiuns (sle dlabyl alS sl
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Limited Income and Unlimited Wants:

Individual has a fixed amount of income, and have walimited wanis. Because wanfs exceed income,
individual face an economizing problem; they mst decide what to buy and what fo forgo.

A Budget Line (Budget Constraint):

peSshuw sle Tud JSias syl 6» asgams 0 cu> , aslsall by Al piew 33V Syute e 8l AlSde Jalsa
153U gLl o aSWpzusl oo sz 0l Al alaw o aSVpsl 3545 s,all sl 13] simey ,uxSMprwl

We can clarify the economizing problem facing consumers by visualizng a budget line (or, more
technically, a budget constraint). It is a schedule or curve that shows various combinations of fwo
products a consumer can purchase with a specific money income. Although we assume two products,
the analysis generalizes to the full range of products available to an individual consumer.

Budget line (or, more technically, a budget constrainy): It is a schedule or curve that shows various combinations of
two products a consumer can purchase witha specific money income.

Example:

If a consumer has $120 to spent on fwo goods: good X and good Y. If the price of good X is $20
and the price of good Y is $10.

- All the combination of good X and good Y on or inside
the budget line are attainable from the $120 of money

income (you can afford to buy Ll e i),

Unattainable

Quantity of 9004 Y
«©

- All combinations pbeyond the budget line (bsal>
aslzell) are unattainable.

- The slope of the budget line measures the ratio of the
price of good X (P4 to the price of good Y {?y.

The Budget Line equation: Px *X+PYy* V=1

Where: Px : the price of good X, Py: the price of good Y, and | : is the consumer income

7lP:‘o=
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i i i i oney income. An increase in :
Income Changes : The location of the bu'dget line vares vynh.tr? e \Ileﬂ mOnEY ingoms
shifis the budget line t0 the right; a decrease In money income shifis it to .
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more income;, PeoP™
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SJ 1. An increase in income shilts = A decrease in income shing
30 the budget line rightward, with the budget !me inward, with

no change in slope. no change in slope.
154 -
seazcmn
T 1
good X

3 . 4 ' goodX

Multiple Choices:

1. The economizing problem is one of deciding how to make the best use of:
(A) Virtually Unlimited resources to satisfy virtually unlimited wants.
(8) Limited resources to satisfy virtually unlimited wants.
_(C) Unlimited resources to satisfy limited wants. s
(D) Limited resources to satisfy limited wants. '

2. The scarcity problem: -
(A) Persists only because countries have failed tc achieve continuous full employment.
available productive resources.‘

(B) Persists because economic wants exceed

(C) Has been solved in all industrialized nations.
(D) Has been eliminated in affluent societies such as the United States and Canada.

3. The budget line shows:
ne more unit of

(A) the amount of product A that a consumer is willing to give up to obtaino

roduct B.
(B) @ll possible combinations of two goods that can be purchased, given money income and h
fices of the goods.
t a consumer can purchase with a given money inc

(C) the minimum amount of two goods tha
(D) all possible combinations of two goods that yield the same level of utility to the consumer.
4. Anincrease in money income:
(A) bhifts the consumer's budget line to the right )
(B) shifts the consumer's budget line to the left.
(C)increases the slope of the budget line.
(D) has no effect on the budget line.

5. Any' corpbinoﬁon of goods lying outside of the budget line:
f/:\‘) :mphgs that the consumer is not spending all his income.
(8} Is attainable (il sle ,18), given the consumer income.

(C)yields les_s utility than any point inside the budget line.
(D) s unattainable, given the consumer's income )
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" Society's Economizing Problem_ﬁﬂggy_diwdﬂ;w
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Scarce Resources.

“

Society has limited or scarce economic resources, meaning all natural, human, and manufactured
resources that go into the production of goods and services. This includes the entire set of factory and
farm buildings and all the equipment, fools. and machinery used to produce manufactured goods and
agricultural products: all transportation and communication facilifies: all types of labor; and land and

mineral resources.
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Resource Categories "
Economists classify economic resources into four general categories.

A. Land: To the economist land includes all natural resources ("gifts of nature") used in the
production process, such as arable land, forests, mineral and oil deposits, and water resources.

oslaall pxrlioy Jayadl Ul by bl Jio g ool ol bVl gaor Jouis apmmakall 5)lgadl @ 2,V
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B. Labor (Jesll):_The resource |abor consists of the physical and mental talents of individuals used
in producing goods and services. The services of a logger, retail clerk, machinist, teacher,
professional football player, and nuclear physicist all fall under the general heading “labor.”

T35 of Tolou spadll Lid 05Sy of oS Jaiuall (il ap=l il Josll &%

C. Capital (JwJI owh): Capital (or capital goods) includes all manufactured aids used in
producing consumer goods and services. Included is all factory, storage, transportation, and
distribution facilities, as well as tools or machinery. Economists refer fo the purchase of capifal -

goods as investment.
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. Capital goods differ from consumer goods because consumer goods satisfy wants direcily,
whereas capital ‘goods do so indirectly by aicling the production of consumer goods.

- Because money produces nothing, economists do not include it as an economic resource. Money used for
purchasing capital goods.

D. Entrepreneurial Ability (putiistly 8,15Y1): There is the special human resource. distinct from labor,
called enfrepreneur ifrty=
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entrepreneur’s time, efforts, and abilities may ke

bined to produce goods and services, they

Because land, labor, capital, and entrepreneurial ability are com
are called the factors of production, or simply "inputs."

Multiple Choices:

Which of the following is a labor resource?
A. b computer programmer] A
i

B. a computer .
C. silicon (sand) used to make computer chips

D. a piece of software used by a firm

1.

2. Which of the following is a capital resource?

A. a computer programmer
B. a corporaie bond issued by a computer manufacturer

C. silicon (sand) used to make computer chips|
D. a piece of software used by a firm

3. The four factors of production are:
A.land, labor, capital, and money
B. &nd, labor, capital, and enfrepreneurial cbilh‘y]
C. labor, capital, technology, and entrepreneurial ability
D. labor, capital, entrepreneurial ability, and money

4. Which of the following is a land resource?

A. a farmer
B. an oil drilling rig

T————&=amechine for detecting earthquakes

D.
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5. M i i
p onc;)rl1 is not an economic resource because:
. money, as such, does not produce anything)

B. idle money b
e alances do not earn i i
& s notSacnte. rn interest income.

Econl31: Principles of Microeconomics

D. money is not a free gift of natore:

Production Possibilities Model zksVl olilSsl  qisis

Production Possibilities Curve

Lists the different inati .
SR emp(l:g;?nbelgihons of two products that can be produced with a specific set of resources.

I p 2 ORI :
>ylsall uaS) Aiszs sie; 8,8 JUs clossg gilay oo garxall asay ol oSay lo suadl Jioy (o ) JSub 92
Assumptions: 8s3sall Ay

sl auda il Slol,8Yl Gas Bsle gai Wl pase gaizal gloYl olile] iz oy gabaiuws osS)

1. Full employment: The economy is employi i i

FU loyr : The ploying all its available resources.

) @lstase e ol allame ausli] 3lgo g5 Y al A3 (sumg . JolSll dibga goamall S2) 8,350l A=}l slgall guner 0|
(JolS Jagis

2. Fixed resources: The quantity and quality of the factors of production are fixed.
anb gaimall s 8,9gzall AVl 5)lgall dicgis AseS ol

3. Fixed technology: The methods used to produce output are constant.
‘ i sV gazzeall lpodszay (sall (Lxglgisall ) &=yl LVl ol
4. Two goods: The economy is producing only two goods (consumer goods and capital goods).
i ouselw glol geiall pois ol

Production Possibilities Table

A production possibilities table lists the different combinations of two products that can be produced
with a specific set of resources, assuming full employment. Table below presents a simple, hypothetical
economy that is producing pizzas and Industrial Robots. -

. At alternative A, this economy would be devoting all ifs avail-
able resources fo the production of industrial robots (capital

aoods
~

Example
Production Possibilities of Pizzas and Industrial Robofts:
:?: Unattainable
Type of product Production Alternative ‘\ %
A B C D E 5
Pizzas 0 1 2 3 4 j’g
Robots 10 92 7 4 0 £
]

. At alternative E, all resources would go to pizza production

(consumer goods). Pizzas (hundred thousands)

L P s s e s i BERSSESEET T LR A S S 12[p e

9
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Microec o sumer goods. asin B.C.andp,

on of pizas at the expenge 3
fh

Econl31: Principles 0
duces both capital '

An economy typically Pro 1
we inCreose &

- As we move from altemative A 10 E.
production of industrial robots. ent satisfaction of its wants. BUTM

m
society increases the cU

- In producing more pizZas. el robots. -
‘More pizzas mean fewer in us : fmum out :
G resents sOMe mcxi} PUt of the g

; T e rep
Each point on the production possibilifies i

products. ) unattainable.

¢ curve (such as @

pizzas ying outside th i
: ino realized (une
¢ is not being (i mploym, et

- Any combination of industrial robots and :
that full employmen

-  Points inside the curve are aitainable, but they indicate

point).
o given Up (o= wix2) 10 Obtain o
Opportunity cost: the number of units of a specific good that must b€ | Ng

more unit of another good. .
e e at each point

4 . inilities cUrv
Opportunity cost = negative slope of the production pOSS‘b'“’“e

o answer the following

Example ) {
Using the table (Production Possibilities of Pizzas and industrial Robots)

guestions:

Production Alternative
A B C D

1 2 3

9 7 4

Type of product

Pizzas 0
Robots 10

1. If the economy at point D. What is the opportunity cost of one more unit of industrial robots?

{ A (A in Pizzas C8-2) _ . o .-
O rtunity cost of one m = = = -% units of Pizzas,
e v oresunlfy ofrebals A in industrial robots  (4-=7 ) 3 S‘

2. What is the opportunity cost of the second unit of Pizza?

A in industrial robots 7-9
( - ) - 2 units of robots.

Opportunity cost = e o ey
Example
duction possibilities can be represented by the table below:

Suppose that a nation’s pro

Production Alternatives

Products A B ©: D E
Food 0 4 8 12 16

Clothing 20 18 4 8 0~
What is the maximum amount of food this economy can preduce? How much clothing ccn i

produce at this point?
13|Pasd




e ot alterative C. what is the opportu

Econl31: Principles of Microeconomics Chapter 1: Limits, AlrernW

E, At this point, qll
ction 15

The greatest amount : 1 ' e

of food is 16 units, achieved by producing at alternatil '
;Zigurces are devoled to food production and none to clothing produciion. Clothing produ
nity cost of oné more unif of food?

A Clothing _ ‘(B,—;L}) - 6 = 1.5 units of clothing
e ;

Opportunity cost of one more unit of food = =
Afood (12-8)

c. If the economy is producing at alternative C, what is the cbst of one more unit of clothing?

Opportunity cost of one more unit of clothing = AAlf::_d = ll((lz_ii) = % =1 unit of food
clothing -

d. If the economy is producing at alternative C, what is the cost of 4 more unit of food?

From pcri‘b, the opportunity cost of one more unit of food = 1.5 units of clothing
Opportunity cost of 4 more unit of food=15*4=6

Or.from the tcblg, as we move from point C fo D, the consumer increase production of food by 4
units (8 to 12), while decrease consumption of clothing by 6 (14t08).

Example

Below is a production possibilifies table for consumer goods “qutomobiles” and capital goods "Milk™

Type of product Production Alternative

A B e D E
0 2 4 b 8
30, 27 .. 21 312 0

automobiles -
Milk

1.Graph the production possibilities curve
oyl 0l (I oL I Gy oyl e ala>\o

ol sae J5 2 o dxamell bl s1c ol LalS @Y pritess b3 o
(aglsin izl Jao ) 2ilsan > asauall cul=dl

6 3
Automobile
14 | P ase
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ne more automobile?

2. If the economy at point C. what is the opportunity costof o

1 A Mk
Opportunity cost =z Zutomobile

(12=21)| _ 9 45 liters of milk
(6—4 )

y at point B. what is the opportunity cost of two more automobile? . 5 9

3. If the econom
(21-27)| = _g_ =

Milk
(4-2)

o A Milk
of one more automobile =z zomobile

Opportunity cost
more * numbers of units

Opportunity cost of ftwo more automobile = Opportunity cost of one

Opportunity cost of two more qutomobile =3* 2= )
o point C. When the economy moving

must move from point B f
6 liters of milk.

the economy
eup (27-21)=

Or: From the table
C, the economy must giv

from point B to point

L

4. If the economy at point B, what is the opportunity cost of one more liter of milk?
. A Automobile _ (0-2) | _2 -
Opportunity cost =—x milk = ——————( 5027 ) =g Automobile
5. What is the opportunity cost of producing the 7thunits of automobile?
The economy must move from point D to point E.
. B AMilk;_(O"‘lz) 12 .
Opportunity cost =xutomobile -—————(8_6 ) =12 = g liters of milk
6. What is the opportunity cost of producing the 24t liters of milk?
The economy must move from point C to point B.
 Opportunity cost i i =é_’il_‘£2_7§2b_gg = _g;‘i_)_ _2 :
pp y of one more liter of milk Ak (27-21) =% Automobile l

At point C, the amount of milk = 21. Increase production of milk to 24 means that the 3 more liters

milk increase

Opportunity cost of producing the 24hjiters of milk =3 * Z o
6
If the economy producing 3 automobile and 20 liters of milk. Is the economy use of its all availad

recourses-to pmduce ite Explain

The point i i ; e e
point 3 auiomobile and 20 liters of milk lie inside the PPC. This point is attainable but it unemploy

point (not use of its all available recourses to prociuce it
i 1S|.?ar
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8' \ghfot Wtould production at point ouiside the production possibilifies curve indicate? What must occur
eiore the economy can attain such a level of production?

Any point lie outside the production possibilities curve is unattainable point.

Before the economy can attain such a level of production it must increase the recourses of the
production or improvement in the level of technology used. -

Example:
Refer to the diagram to answer questions that follow it

14~A\

1218

GT ] N
s .0 .
o © D

£
1
T

0 2 46 810
. Computers
a. If society is currently producing 9 units of bicycles and 4 units of computers and it now decides to
increase computer output fo 6, what is the opportunity cost of increase computer output to 6 unifs?

From the diagram as we move from point C fo point D, the economy increase production of
computers from 4 to 6, that leads fo decline production of bicycles from 9 fo 5

Opportunity cost of increase computer output from4 to 6 units = |5 — 9| = 4

b. If society is currently producing at point B, what is the opportunity cost of producing one more
Computer?

If the economy at point B, and its wants fo increase production of computers it will move from point

B to point C.

(9-12)
(4-2)

__A Bicycles _
~ A Computer

: 3 ’
Opportunity cost e e 1.5 bicycles

c. If society is currently producing at point D, what is the opportunity cost of producing one more
Bicycle?

If the economy at point D, and ifs wants to inc:ease production of bicycles, it will move from point D
to point C.

(4=6)
(9=5 )

A Computers _

2 g
=% = mputer
A Bicycles 3 =Ycomp

Opportunity cost =

h .15.|Paap




ternative and Choices 1

smits, Al

> CONOMICS

Eeconl

Law of Increasing Oggoﬂunity Costs:

asing opportunity costs. As the pro
tional unit rises.

] Principles © Microe

™
S

duction of PGrﬁCUIcr g IR ERa% L OppO”UniW

The law of incre
aJlize wli=>9 glol ] 1830550l %lu\

cost of producing an addi
5lg
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Exompie | Possibilistes B
Ihe following table shows the production possibilistes for an .ecrzifl}ionsY 5 = 15§
which produces bottles of water (B) and Compact Disks (CD) in . = ¥
. . : 2 Show how? 2 |78
Does the law of increasing opportunity cost hold herez 5 = &
r 5 [Tog
T

Answer:
disks is sacrificed for 1 more unit of Bottles 4

unit of compact .
units of CD for 1 more unit of bottles of Wal]

When we move from A fo B, just 1
fice 2 additional

water; but in going from B to C we sacri

then 3 more of CD for 1 more of bottles of water. - :
B CD | Opportunity cost of ong =
more_bottles of water (8
= The law of increasing opportunity cost hold here 0 15 - ‘U\
1 14 1
2 12 2
3 9 3
4 5 4
5 0 5 ~

Shape of the Curve:

bowed out from the origin of the graph. Figure shows thar when the
: 3 economy moves from A i i
l(J]p ]suizceszv;a)ly TIrc?_rg'er hcmounts of industrial robots (1, 2, 3, and 4) to acquire equal incr;?ni;igl;s;%
, 1,1, and 1). This is shown in the slope of th i ibiliti i B
{ia s Bine B 8T o) e production possibilities curve, which becomes steepera

The law of increasing opportunity costs is reflected in the shape of the production possibilities curve: The Cuma

J

Unattainable

Induszrial robots (thousands)

R0 N T W
S T g

0 L ma s 6 7 8
Pizzas (hurdred thousands)
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3000 due

> _Producﬁon possibilities curve is bowe
increasing opportunity cost.

d out f-om the origin because it reflects the law of

» Production possibilities curve is straight line because it reflects the law of constant

opportunify COsT.

A Stmigiﬁ-Lfiﬁc"PPC

-Food

Constani epportunily
Cos’? 3 s

Mulfiple Choices:

Clothes

“A Cufved-Line PPC
Pizza

A

B

Tricrcasing Oppounily
Cosl

Robots

1. The typical production possibilifies curve is:

A. an upsloping line that is bowed out from the ofigin.

B. a downsloping line that is bowed in toward the origin.
c. b downsloping line that is bowed out from the oriéin.l

D. a straight upsloping line.

2. The slope of the typical production possibilities curve:

A. is positive.

B. fncrecses as one moves southeast along the curve.|

C. is constant as one moves down the curve.
D. decreases as one Moves southeast along the curve.

3. The production possibilities curve has:

A. a positive slope that increases as we move al

g. ko negative slo e that increases as we

C. a negative slope that

D. a negative slope that is constant as we move d

possibilities curve answer the following question: Refer 16 the

4. Based on the following production
above diagram. The concept of opportu
A. Move from B on PPl fo E on PP2.
B ove from B on PPl to Con PP1

C. Move from D inside PPl to B on PPL

D

. Shift of the production possibilities curve from PPI to PP2.

lona it from left fo right.
it from left fo right.

move alon

decreases as we move along it from left to right.

long if from left to right.

nity cost is best represented by the:

Capltof goods
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N

Example Guns :Btutte)r OPportuny: :
ons of G 05t
Based on the following production possibilities schedule answer the 1 e oS :sn:fb
following questions: 5 28 7 utter
3 ? 12 tons of
utt
nd wants-fo | 4 0 ? ; er

a. If the economy’is cutrently producing one Gur), a
produce more Guns, what is the opportunity

additional Gun?
Opportunity cost of an additional Gun = m“ (2-1)

cost of an

b. If the economy is cumenily producing 3 Gun,
efficiently2

Opportunity cost of an additional Gun = A Butter / A Gun

_ (x-28)

-12= (3-2)

© X-28=-12 & X=28-12=16tonsof butter

Optimal Allocation

(A Butter _ (28=36) _ g1 of butter

how many tons of butter can this country produce

Of all the attainable combinations of pizas and industrial robots on the curve in Figure, which is optimal

(best)2 That is, what specific quantities of resources should b‘e cllocate.d to pizas
and what specific quantities should be allocated to industrial robots in order to

maximize satisfaction?

(B) akasly (A) abaslls .axls] gazxall guaias bo a8l Jioy gl ©lilSa] (iin ol Tyl U,S3

5] Ly ol goimall oSay ol ol of Jiladl s>l Jios (uziall sle alasi JSy ()

J1a5 (uzinll e gai osall Jiladl odn of @l 0is (s Jsiig - 8,981all soliall guox pasiwl
Productive Efficiency). &=l selas

i

robols

anilly

iy

Economic decisions center on comparisons of marginal benefit (MB) and marginal cost (MC). Any
economic activity should be expanded as long as marginal benefit exceeds marginal cost and should
be reduced if marginal cost exceeds marginal benefit. The optimal amount of the activity occurs where MB =
MC. Society needs to make a similar assessment about ifs production decision.

Consider pizzas. We dlready know from the law of increasing
opportunity costs that the marginal costs of additional units of pizza
will raise as more units are produced. At the same time, we need to
recognize that the exira or marginal benefits that come from
producing and consuming piza decline with each successive unit
of pizza. Consequently, each successive unit of pizza brings with it
both increasing marginal costs and decreasing marginal benefits.

The optimal quantity of pizza production is indiccled by point e at
the intersection of the MB and MC curves: 200,000 units in Figure.
Why s thisaomount—the—oplimal-quaniity2 If only 100,000 units of

“
v

Marglnal benefit and
marginal cost

pizzas were produced, the marginal benefit of an extra unit of pizza
{point a) would exceed its marginal cost (point b).When society
gains something worth $15 at @ marginal cost of only $5, it is better

L e T

200000 305000
Quantity of pizd

19| Fame
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off. In Figure above, net gains can continue 1o be realized until pizza product production has been

increased to 200,000.

IfMB>MC — production should be increased

IfMB <MC — production should be decreased

IfMB = MC — the optimal amount of the production occurs (optimal‘allocation)

Productive Efficiency (bl 3:S)

The production of any particular good in the least costly way (sl Jaly asludl W)
‘e Each point occurs on the production possibilities curve represents productive efficiency.

e Each point occurs inside the production possibilities curve represents productive inefficiency.

The points A, B, C, D, Erepresents productive efficiency
Point F represents productive efficiency point

Tractors

Allocative efficiency .
ar mix of goods and services most highly valued by society (goizeoll 31,81 axey Lo glul).

The particul

Economic Efficiency = productive Efficiency + Allocative efficiency

Multiple Choices:

on possibilities curve is achieved where:

A. the smallest physical amounts of inputs are used to produce each good.

B. Ech good is produced at a level where marginal benefits equal marginal co@
C. large amounts of capital goods are produced relative to consumer goods.

D. large amounts of consumer goods are produced relative o capital goods.

1. The optimal pointona producti

2. The marginal cost curve is:
A. Upsloping because of increasing marginal opportunity costs]
B. upsloping because successive units of a specific product yield less and less extra utility.

C. downsloping becaUse Of fncreasing marginatepportunilcosts
D. downsloping because successive units of a specific product yield less and less extra utility.

______ - P Sr 20-‘-;);‘5;3
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GFOW' -
in 5 ;
Economy ws:lasiVl sesl resources and technology are fixey

; uality of : .
When we drop the assumptions that the quonmy and d | maximum OUprf of the econOmy

U otentia
hhe roduction possibilities curve shifts positions and the P

Changes,

| 558

PWEWRSPER L

1. Increases in Resource Supplies: &=l
[ land, labor, copif'all,”
roduction possibilitie
tities of both fypes O

and entrepreneurial Qbimy) »
s curve outward and to The'

The increase in supplies of resources
f goods ( Economic Growfh)

if""pl’ovements in resource qudiity, move the p
right, allowing the economy to have larger quan
The increase in supplies of resources, improvements in resource quality, shifis the production possibilities iy,
outward and to the right (Economic Growth).
1)l GBS &y nieall oo alolsll s3ally sl wl53) Gy Ssly 8 BVl 2,lgall &ea Ol Lo gl g
5 By oYl A5lb S| gazmall 1is 8)1d0 Of &blusy orisy 2Us O] s dlonwl Jl oS3l 35L59 ;85 a20]l 84,4
s oo Jgomedl oo (slassl sai ) bgiw olorsdly gladl oo 51 wliaS zay o geizell 1is gty (i,
AN Gliog ;oalolall cu)iis Jaschl oVl 2Meaiwl Jto ,@05x0l) a>liadl 5)lgoll ey Co s |>| ‘L=¢.~1JI
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)38y

A decrease in supplies of resources, shift the production possibilities curve inward and to the le
] om PP
PPC;. (Economic recession (s3L<2l 35S ), o Cite

ECOnomis raseesion

Raobots (thousands)
Robots (thousands)

\

\

!

e\
\

Pizzas (hundred thousands)
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3. The output pf MP3 players should be:
A. reduced if marginal benefits exceed marginal costs.

B. _educed if marginal costs exceed marginal benefits.
C. increased if margina
D. reduced [

ive products

4. Refer to the above diagram. Points A, B, C, D, and E show: 144 '
A. That the opportunity cost of bicycles increases, while that of computers is » k B
-constant. L i
B. ICombinations of bicycles and computers that sociely can produce byl o 1° \e o
sing its resources efficiently] i 8T .
C. That the opportunity cost of computers increases, while that of bicycles is a6 A
constant. 44 §
D. Tr)ct society's demand for computers is greater than its demand for
bicycles. il
\E +
_ 0 2 48 8 10
Gomputers
Unemployment, Growth, and the Future

Unemployment of Resources

ALlS 850 alstiss it ol ,Alstuin 8 tWYl yolic yie 05 loxic do gloyl yolis) JelS)] cabstl pac
- Yl olis) Jols)l cipbeill pac Jios Yl olilso] (sixis J3Is aais ol of sy [1ag

Q
. m?
Any point inside the production possibilities curve, such as U, represents ol
unemployment or a failure to achieve full employment. N sg
LI

The arrows indicate that by redlizing full employment, the 3 45 A
economy could operate on the curve. This means it could % 5§
produce more of one or both products than it is producing at L 3]
point U. < 3

gHil 2 3 45 6 T 8
Pizzas (handred thousands)
Example

Refer to the production possibilities curve. Which point. represgnts unemployment and
producing inefficiently? And which points represent productive efficiency?

guns

i - unemployment point and producing inefficiently.
Ea (Sh:n GLZJ\” ).oL‘..c OR B3 ) cl:ﬁ” ).aL'..nJ Jn[S UMazwl Jus a>gs \

e

!
Point's b, ¢, e, and f represent productive efficiency [ wle g (P ; e
onixaoJl) ! 8
3

T | Pase

- & AT RS AARE SRS S
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Multiple Choices:

possibilities curve to shlﬁ‘ outward.

1. Unemployment: )
A. causes the produc?non e
8. can exisi ai Gnywm—@pmdtﬁﬁen'possws'p 1 > M’biliﬁes ey x
is i oint outside the roduction OOSSEL
G By & pont ide the production O_SSlblhfleSCUNe-. gt i

D. fsillustrated by & oint-inst
ght shif: fo the left (inw:

1) due to over lanting and over rozin_g__(&ﬂ]_

ard) as d result of:

A nation's production possibilifies curve mi

A. technological advance.
8. increases in the size of the labor force.

letion of its soil fertilif
g in more capital goods.
e concept of economic growt

D. investin
3. Refer fo the above diagram. Th h is best

represented by the:

A. Move from point B to point C.
B. Move from point C to point D.
C. Move from point B fo point EJ «

D. Move from point F fo point E

Capltal goods

Riased Growth and Unbiased Growth: _ uilazell suéq vjlaioll gaill
sl goill Lol @il pusiy S/ludl Wlio (53 ( Pizza and Robots ) gl
- AL ek 54 ) | geox 2l a3 boaie Ujlgs <] e
e TR M R S R el =) 6o g?ﬁj o
ok pag 18 Jylaalls oilSall 2] wsle 35 of was slakll 2lw] 85l (J] S38amw Lo Lide ,ascl,3)l (ol '-w”’l"f
Aol 2] ool s s 0f 03 ISall Sl Aol (mglyd

Generally we assume an incre in avai ces raises the production ca ac ‘I’y both
; - ase in available resou i i o] (o] le) goo
, howeve ifi n :
I k ;y“ l I , gY r. may be S!JelelC to one pdeUCI. | hlS S”UO”OI | lc“ e YP. P hﬁ
S i

Improvement that benefit
. s both
rodi PPC: ] l
gomic;z}lzr’ismfts 4 Improvemenit that benef; it
i o PECH0 5rCs, onlyPizza PRC shitts to thz
; = right frorm PPCH
g 7 rom PPC1 to PPC2,
£ t
2 : \
3 3
x & [
£ i)
tg g \
2 \
0
K PP PPC,
R

o
12233 {hundred thousands)

\
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Multiple Choices:

1. Which of the following could explain the shift in the production possibilities frontier from AB to AC
A. technological improvement in both television production and

compufter production

B.
© on computer production

technological improvement in television production that has no effect

C. kechnological improvement in _computer production that has ng!

ffect on felevision production]

D. anincrease in the labor
computer

right2

that can produce either ielevision products or

Which of the following will shift the production possibiliies curve to the

A. an increase in the unemployment rate from 6 o 8 percent )
B. a decline in the efficiency with which the present labor force is allocated
C. a decrease in the unemployment rate from 8 to é percent

Telev|sion
>

B

D. la technological advance that allows farmers 1o produce more output from given inpuls

3. In the figure above, moving from point D fo point E requires

A. Technological change.

B. Anincrease in unemployment.

(ot

Give up (= 5%) some of televisions in order to obtain more]

ompute

D. Give up some of computers in order fo obtain more televisions.

N
=

felevisions
-
@

o
=

L

c
Computer

Ao

e

3 4

computer

Questions

Question #1

Refer to the production possibilities frontier in the figure above

answer the following questions

1. Which point is unattainable?
Which poinf indicates that resources are NOT fully utilized or

2.
are inefficient?

3. Which point represents an attainable but inefficient

production poin{?

4. Which point represents the cho
amount of resources to producing consumer goods?

goods?

ice fo allocate the Qrecﬂest

If the country moves from point a to point d, the opportunity
cost of one more unit of consumer goods is

If currently no capital goods are being produced, what is the
Totaropportunity costof produeing-another10-capital

|
2
"
“

per month)

B
o

Consumer goods millions

ok L S

: 0

S

Copital goods |milli
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ons per month)
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. What must the economy do to attain point &2
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Question # 2:
The table below lists five poins on the production possibilifies frontier
for chocolate bars and cans of cola. Production | 7
1. Show ihese data graphically | point_| chocolate bars | cang o A |
2. If the economy at point B, what is the opportunity cost of the . 2 *ﬂ
one rore cans of cola? £ : ’ B [ .
3. If the economy at point D, what s the opportunity cost of the = 20 e
= 2 | o
E 40 =

one more bar of chocolate? i
4. If the economy producing at point E, what is the opportunity

cost of producing 40
5. Can the economy pro
6. Does the law of increasing oppo

ducing 20 chocolate ba

rtunity cost hold here Show how?

Question #3

The table above represents t
answer the following questions.
1. Which of the following combinations is U
grain and 26 car), (2 tons of grain and 27 cois), (6 tons O

18 cars), (7 tons of grain and 10 cars)
5 If the economy at point D, what is the opportunity cost of

producing one more unit of car?
3. What is the opportunity cost of increasing grain pi

tons to 4 fons? ;
roducing the 5" ton of grain?

he production possibilit:s frontier for

nattainable? (4 tons of
f grain and

roduction from 2

4. What is the opportunity cost of p
5. What is the opportunity cost of producing the 26" car?
Question # 4: .
mative:

Decide whether the following statements are positive or nor

petrol will le
ht to introduce a ban
e in income per head, people are

1. Arise in the price of
2. The government is rig
3. Despite alarge increas

years ago

4. The govemmenf can reduce obesi

cans of cola?
s and 75 cans of colag If no

t why?

grain and cars. Given this information

ad to anincrease in the demand for rail fransport

on smoking in public plac
no happier

Production of Produg
8 4 gran Of%“
Point (tons) [
A 0 30)
B 2 IR
C 4 27
D 6 [ o
E 8 10
F 10 0
es
today than they were 50

ty by offering a subsidy fo low income fomilies when they buy

fresh vegetablesin the supermarket
d for own-label supermarket foods

5. A fallinincomes will lead to a rise in deman

Question # 5: A
' 20-\5
The graph represents the production possibilifies fontieiforreadand  qel -
Tractors i !
. . 12-—
1. Is the combination of (3 Tractors and 12 -Bread) unattainable? E
Explain g al
o>—if—the SEOROMY at_point C. what is the opportunity cost of
produ.cmg one more unit of Bread? ‘ i
3. What is the opportunity cost of producing the 5th ton of graing ¥
4. What is the opportunity cost of producing the 4ih Tractors? 8 1z o N
25 | P raS




